ITI Surveyor 1st Year Module 5 Auto CAD command and Plane table
survey

(1). Which accessory is required to take inclined sights? | %Wa'l@f@al?ﬁﬁaﬁ
& foIU HH-T1 TgTID IUBRT 3MIF &7

(A) Alidade | TeflsS

(B) Plain alidade | |G Uferss

(C) Trough compass | ¢t S HIY

(D) Telescopic alidade | WE‘%’I@E

Correct Answer : D

(2). What is the name of work done? | ®TH h[ TH H] %?

s,




(A) Centering the station | LIH W HEU

(B) Levelling the plane table | @I cod adaienT

(C) Orienting the plane table | @ cd Bl &nﬁQ_C'WT
(D) Orienting by back sighting | st‘c’ Gﬁw

Correct Answer : B

(3). What angle is used to draw right isoplane? | XISC @ﬂgﬁﬁﬁﬁ%mm
10 BT IUUNT T ST 82

(A) 30°and90°
(B) 60°and 90°
(C) 150° and 90°
(D) 30°and 150°

Correct Answer : A

(4). Which method is used for plotting inaccessible objects, broken boundaries,

river etc? | @ﬁaﬁ@,@ﬁmﬁ,ﬁmﬁ@%%mmmw
SUANRT b SIel g2

(A) Radiation method | fafdseor fafer
(B) Resection method | e fafy
(C) Traversing method | éaféfrr%fir
(D) Intersection method | w@wﬁﬁr

Correct Answer : D



(5). What is the system to locate a point by its distance and angle of the co-

ordinate system? | TH-GY YUITCH &1 G31 3R DIV gRT T fog &1 91 & &
T & goTTe 82

(A) Cartesian co- ordinate | ﬁ@lﬂqﬁ- Gh'%el?
(B) Polar co-ordinate | UIeR PI-3Nfse

(C) Relative co-ordinate | Rafea pr-sifgae

(D) Absolute co-ordinate | Wﬁm

Correct Answer : B

(6). What line weight may be printed, if the object is drawn with blue colour on

screen? | Ife WhI- UR =iTdl T o T G Wid! SITcll &, o1 T AT b aor]
gfed fpar S gedr g2

(A) 2mm

(B) 3mm
(C) 4mm
(D) 5mm

Correct Answer : A

(7). What is the another name of tracing paper method? | é/ﬁ-‘l"l IR fafd &1
IR AH R 8?

(A) Bessel’s method | ERNEEARGIR

(B) Graphical method | oy fafy

(C) Mechanical method | Tifae fafd

(D) Trial and error method | Brifav| ﬁ?g@ﬁﬁ[

Correct Answer : C



(8). What is the function key stroke Ctrl+ Z used in AutoCAD defines? | 3icips o

SUTNT fhT S aTel HaRH ol €I Crl + 2 FT§?
(A) Undo
(B) Redo

(C) Copy clip
(D) Grid on/off

Correct Answer : A

(9). Which is the line joining two stations in plane table survey? | W eagd 9a |

&l =M & e arelt arg- i 1 g2
(A) Base line | TR ¥@T

(B) Offset line | JThYUC AR

(C) Check line | 9% A3

(D) Survey line | Td @ATZ

Correct Answer : A

(10). Which is quick and accurate method in three point problem? | ?ﬁ:fﬁ_gr

FHR H HH H aRd SR gdie [l ge

(A) Bessel’s method | ERNEEARGIR

(B) Graphical method | foamg fafy

(C) Mechanical method | gifie fafd

(D) Trial and error method | PrifaLy| @Tﬁ%ﬁlﬁf

Correct Answer : D




(11). What is the name of the work done? | WWWW%?

w ]

(A) Orienting the plane table | W ¢d Bl eﬁﬁqzm

(B) Orientation by fore sighting | tﬁ?ﬂ'lgﬁ"'[m &nﬁ'@'ﬂ:{
(C) Orientation by back sighting | acbwsféu gR1d \ﬁlﬁ”@?ﬂ
(D) Orienting by magnetic needle | ﬂ@lcbﬁlq ﬁ_‘éc gIR] Shﬁ'q%'[

Correct Answer : C

(12). What line weight may be printed, if the object is drawn with red colour on
screen? | IS ThIF IR fTeoide &l oTdl T W1 7147 §, o T A5 b1 aol
qfed far s awarg?

(A) 2mm

(B) 3mm
(C) 4mm



(D) 5mm

Correct Answer : D

(13). Which is the traditional drafting? | Wtﬂfﬁﬂﬁ?m%?
(A) Cross hatching is done | m%ﬁ"'[ﬁ\_ﬂ'l?ﬁ%
(B) Can be viewed in different angles | fafta wion | a@ll NIRSEN| %

(C) Application designs are faster | UfRIHT fSHZT a &

(D) Dimension can be changed as per users wise | SUINTH AT & STHR
3T P TSl ol Ybdl §

Correct Answer : A

(14). What is the term that marking the drawing objects on a layer permanent and
non- editable? | VIR 3R TR-TUTG TY X1 TR ITET Sieoiacy & fafgd &3
JTa 2eg T 57

(A) Layer line type | TR A3 UHR
(B) Locking a layer | lIfch @R
(C) Layer or level | TR 3R dddl
(D) Macro | Hehl

Correct Answer : B

(15). What is the line width with dimensions, if you are using a high - resolution

monitor? | STATHI & TTY AR &1 AIST8 &1 5, Tfe 3T I=-NSifeg@H AffAeR
BT IUANT BB 87

(A) 0.90mm

(B) 0.13mm



(C) 0.18mm
(D) 0.25mm

Correct Answer : B

(16). What is the name of command? | DHIS BT -TH 1 %?

(A) Break command | B HHIS

(B) Offset command | 3HUC HHIS
(C) Mirror command | TRy sHis
(D) Chamfer command | JdPR HHIS

Correct Answer : C



(17). What is the name of icon? | HIgh - hI -TH W%?

(A) Trimicon | ﬁ;q\?fﬂm

(B) Copy icon | ﬁﬁ&nsao‘l”?
(C) Rotateicon | Jcc HIgh

\J N

(D) Off seticon | 3Tth HC 3

Correct Answer : C



(18). Which symbol refers to ellipse command? | ﬁqmmmmﬁ
Teffd Harg?

T~

£ <>

C D

(A) A
(B) B
(C) C
(D) D

Correct Answer : D

(19). Which method is positions of the point are fixed on the sheet by the rays

drawn from two instrument stations? | ﬁgﬁ@ﬁrfrm@m‘r@r@%ﬁ
T3 foun gRT 2ffe W fr fig R ag o1 St |2

(A) Radiation method | fafdseor fafer
(B) Resection method | e fafy
(C) Traversing method | éaféfrr%fir
(D) Intersection method | mﬁlﬁ[



Correct Answer : D

(20). What is the name of command? | HHIS BT -TH 1 %?

(A) Array command | @W

(B) Break command | ISP HHIS

(C) Mirror command | iR wais

(D) Explode command | QEI'\‘:I'@_S'W

Correct Answer : A



(21). What is the name of dimension? | WWWW%?

- 5.00 o

3.00

(A) Aligned dimension | WRRIT ™
(B) Linear dimension IWGITJIT[

(C) Angular dimension | PHIUNT 3TATH
(D) Base line dimension | éﬂals‘rf&num

Correct Answer : B

(22). Which operation the table top is made truly horizontal? | aifererT & T TR
DI T TR Tl A § &afas 82

(A) Levelling the plane table | @I ¢ d aaienT

(B) Centering the plane table | @ ¢Fd UR HGU]

(C) Orienting the plane table | W odd Bl 31-||§Q' C Al
(D) Magnetic needle method | Wﬁéﬁlﬁ[

Correct Answer : A




(23). What is the technical term used in the working edge of alidade? | QFI'IE@'%

e et g el Rieg T €2
(A) Ebony edge | 3aIHI TS

(B) Ruling edge | FI%@,‘QG[

(C) Straight edge | ¥ T Tol

(D) Fiducial edge | forgRIAd Tl

Correct Answer : D

(24). Which is the method used only for locating station points? | Had LA

fagaft &1 uar @ & fore ford U fal &1 Sua foran S |2
(A) Radiation | fafezor

(B) Resection | TR

(C) TraversingléaﬁﬁT

(D) Intersection | S R

Correct Answer : B

(25). Which survey is checking of plot details and can be done easily on the spot

itself? | I JT A& Wic IR0 b1 S BHdl g 3R Hidb UR & M1 A foban
ST ghdl 82

(A) Chain survey | T Ta&foT

(B) Compass survey | SHIT HA&f0T

(C) Plane table survey | W ¢ad Jde&foT
(D) Dumpy level survey | ST Aad TJ&UT

Correct Answer : C



(26). What is the name of command? | HHIS BT ERJT%?

(A) Circle command | Jhd HHIS
(B) Arc command | 3Th HHIS

(C) Polygon command | GEH\_ITWI_S’
(D) Ellipse command | ﬂﬁﬁﬁm

Correct Answer : A



(27). What is the name of figure for drawing 2D isometric representations of 3D

models? | 30 HISA & 2D ATZAATCH =TI & T T o1 1H F1 82

- ﬁ-m ks

3.00

(A) lsometric view | mﬁmaj\
(B) lIsoplane right | &HE@'@:NIQE
(C) Isoplane left | 3“II${-I\IL€1"I e

(D) Isoplane top | TSI g

Correct Answer : B

(28). What is the name of device that feed information to the computer? | 34
JUHRUT &1 ATH FIT g SN e &bl a1 ¢l 87

(A) Mouse | HIHYH

(B) Digitizer | ?ﬂ\_rﬂ?lw

(C) Keyboard | Piars

(D) CAD software | CAD JIFEaUR

Correct Answer : C



(29). What is the back ray method in plane table survey? | INE NG R C R Gy
CIRERIGE

(A) Radiation method | fafdsor fafer
(B) Resection method | g fafe
(C) Traversing method | Eaﬁfrrﬁfﬁ
(D) Intersection method | sa@amﬁfér

Correct Answer : B

(30). How the vanes are fixed in plain alidade? | @qﬁ?ﬂ%ﬁﬁ%ﬁmﬂ
forT STd g2

(A) Bolted | Slec
(B) Hinged | fe=1
(C) Welded | 28
(D) Screwed | &b

Correct Answer : B

(31). What is expansion of CPU means? | CPU WWW%’-’
(A) Central Processing Unit

(B) Central Permissible Unit

(C) Computer Processing Unit

(D) Computer Performance Unit

Correct Answer : A



(32). Which process is necessary if more than one instrument station is to be

used? | @w@%@?%mmﬂmaﬁﬁ@m
ISP g2

(A) Levelling the plane table | @ odd gIR] IS
(B) Orienting the plane table | W ¢ad Dl 31-||§Q' C Al
(C) Centering the plane table | @ ¢Fd BT HGUl

(D) Setting up the plane table | @ ¢ AT DT

Correct Answer : B

(33). What is the line weight width of very heavy object lines? | dgd Waﬂ
SIERICINESESE RIS EELIRE,

(A) 0.90mm

(B) 0.50mm
(C) 0.35mm
(D) 0.25mm

Correct Answer : A

(34). Which method used in plane table survey is also similar to that of compass

or theodolite? | @ cd d&ur H farg fafd &1 IuaivT sorurg a1 faasiarse &
A 87

(A) Radiation | fafaor
(B) Resection | RECAIG
(C) Traversing | Eaﬁfn
(D) Intersection | QET@W

Correct Answer : C



(35). What is the another name of Bessel’s method? | CRNEIRGIRER! qURTTH
FTG?

(A) Graphical method | fezmg fafd

(B) Mechanical method | gifae fafd

(C) Tracing paper method | iﬁﬂﬂtﬁﬁfﬁ

(D) Trial and error method | LRty Gﬁqgﬁﬁﬁ[

Correct Answer : A

(36). What is the name of the method done by plane table survey? | Qo ¢dd Id

CACAC R DA




(A) Traverse method | é;ﬂf%fﬁ

(B) Radiation method | fafdsor fafer

(C) Resection method | e fafe

(D) Intersection method | w@wﬁﬁr

Correct Answer : C

(37). How many setting up of operation are there in plane table survey? | T
o9d Id H fhdn e 3T TR 8ld 82

(A) One operation | U NSRRI

(B) Two operation | &l 3TRRH

(C) Four operation | IR 3R

(D) Three operation | I SRR

Correct Answer : D

(38). Which accessory is used to read the angles of both elevation and depression

and can be read on the vertical circle? | mmﬁmﬂm 3R
SRR SH1 & HIuTl &l Ug & forg forar SITdT 8 8iR $eaieR b WR UG ol
Tl g2

(A) Plain alidade | HIETQ'I%‘I@_S

(B) Trough compass | ¢t Y

(C) Magnetic compass | WW
(D) Telescopic alidade | WQ’%@E

Correct Answer : D




(39). Which symbol refers to line command? | DI T Uclicp NIEE) HHIS DI
e fifd Frarg?

S

A B
> ()
¢ D
(A) A
(B) B
(€) C
(D) D

Correct Answer : A



(40). What is the name of symbol? | WWWW%’P

(A) Line | TS

(B) Pine | Ul TTg

(C) Mline | TH g
(D) Spline | & Ul TS

Correct Answer : D

(41). What is the term for drawing elements like line, arc and circle? | WT, 4

3R g oI TS el o forw T e, 7
(A) Options | ST

(B) Command | PHIS

(C) Entity | THfeC

(D) Programme | TUTH

Correct Answer : C



(42). What is the term that a drawing contains multiple drawing created with the
help of CAD layers? | 9% /s &1 ¢ forH T SIS H CAD URd| &1 Hag 3 &8
SIEERIIL) lU

(A) Composite drawing | JHU S\Ig‘l

(B) Macro | Al

(C) Layeron | TN 3T

(D) Layer off | TR 3

Correct Answer : A

(43). Which accessory can be used if the elevations or depressions of the object

are low? | Tfc T B TR 3R SR HH 81 dl HIF I gD SUBRU]
BT IYANT {3 ST Java1 82

(A) Alidade | TclISS

(B) Plain alidade | |G Uferss

(C) Trough compass | ¢t hHITY

(D) Telescopic alidade | WQ’%@E

Correct Answer : B

(44). Which method is suitable for the survey of small areas in plane table? |

o qferenT § Bic &1 & qdeur & forg &1 3t fafd Iuge 82
(A) Radiation | fafezor

(B) Resection | IYRM

(C) Traversing | AR

(D) Intersection | S UG

Correct Answer : A



(45). Which type of survey cannot be done in dense wooded areas? | ﬂﬁm

aTet &1 B o UHR BT Td&l 151 [T Sl Tahdl 5?2
(A) Chain survey | T A&l

(B) Compass survey | ST TA&UI

(C) Plane table survey | @I C&d FA&UT

(D) Dumpy level survey | SHT Aiae A&l

Correct Answer : C

(46). What is the name of tool bar that contains functions of commands? | ¢ dIR

&1 ATH 1 & ForaH HHiS & B QA 52
(A) Draw tool bar | S\:[J@'?TEHT

(B) Modify tool bar | m@m

(C) Standard tool bar | @?:TSFQFTEHT

(D) Properties tool bar | W@W

Correct Answer : C

(47). What is the another name of mechanical method? | BIEEACIRED] QNI
TH T 82

(A) Bessel’s method | ERNEEARGIR

(B) Graphical method | ey fafy

(C) Tracing paper method | ?ﬁmﬁm%&r

(D) Trial and error method | LRty ﬁ?g@ﬁﬁ[

Correct Answer : C



(48). Which is the axis of graduated scale mounted in a telescopic alidade? |

CARDIUD TS H IS Whd [y 31 IR AT BT g ?
(A) Vertical axis | SR 378

(B) Inclined axis | [T G &l

(C) Bevelled axis | SACS 37&f

(D) Horizontal axis | &fcreT 3féf

Correct Answer : D

(49). What is the name of work done? | WWWW%?

#
2

(A) Orienting by sighting | HI%@"TW &nﬁ'QﬁT[

(B) Centering the station | LIH W HEU

(C) Levelling the plane table | @ cd aaielT

(D) Orienting the plane table | W odd Bl Ghﬁ'Q_C'WT



Correct Answer : B

(50). Which accessory is used for centering the table over the point or station
occupied by the plane table? | & Cad gRT el fh U 7T foig IT WM W <ad
DI Higd A & foTe forg TeTas IuHUT &1 ITANT fHa1 Sidr 82

(A) Plumb bob | &Wd Sid

(B) Spirit level | @1 qrad

(C) Plumbing fork | T Bldh

(D) Plumbing fork with bob | STd & ITY TSI Blh

Correct Answer : D



